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April 17, 2020 GENERATOR L2 GCSES @
1) Find perimeter of 2) Find perimeter of 3) Find perimeter of
b rectangle having b rectangle having a p triangle
sidesa=7157m sidesa=9165in h=6751, a=9033
a and b=5424m a and b=8143in T m,
b=9347m,c=
9591m
Answer: Answer: Answer:
4) Find perimeter of 5) Find perimeter of 6) Find perimeter of
triangle square having each side sguare having each side
b b a=6585cm, b= s (s) equals 2126 ft s (s) equals 5202 ft
7035 cm
s s
a
Answer: Answer: Answer:
7) Find perimeter of 8) Find perimeter of 9) Find perimeter of
sguare having each side . triangle s= 6877 in b rectangle having
s (s) equals 3643 in sidesa= 7103 cm
r a and b =4237 cm
s
Answer: Answer: Answer:
10) Find perimeter of 11) Find perimeter of 12) Find perimeter of
sguare having each triangle triangle
s side (s) equals 6364 m b b a=4904cm, b= b ¢ a=2196in,b=
7237 cm 5809in,
s 3 a € =19648in
Answer: Answer: Answer:
13) Find perimeter of 14) Find perimeter of 15) Find perimeter of
. . triangle s = 4658 ft b rectangle having triangle
sidesa= 8144 ft b b a=7211ft,b=
< a and b = 1757 ft 7885 ft
a
Answer: Answer: Answer:

Copyright 2020 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Sr: 17042020-1398

Name:
11-PLUS
MATHS WORKSHEET [ EAS h_f(:'
April 17, 2020 GENERATOR 4 GCSES )
16) Find perimeter of 17) Find perimeter of 18) Find perimeter of
square having each b rectangle having b rectangle having
s side (s) equals 9210 ft sidesa= 5091 ft sidesa= 8988 cm
a and b = 3242 ft a andb=3635cm
S
Answer: Answer: Answer:
19) Find perimeter of 20) Find perimeter of 21) Find perimeter of
. triangle s= 7357 ft b rectangle having b rectangle having
sidesa=9943 m sidesa=4185m
= a and b=7091 m a and b=2376m
Answer: Answer: Answer:
22) Find perimeter of 23) Find perimeter of 24) Find perimeter of
square having each triangle b rectangle having
s side (s) equals 1546 ft b b a=1283ft,b= sides a= 9586 ft
7186 ft a and b = 8492 ft
® a
Answer: Answer: Answer:
25) Find perimeter of 26) Find perimeter of 27) Find perimeter of
sguare having each b rectangle having b rectangle having
s side (s) equals 1790 ft sidesa= 8793 ft sidesa=8481in
a and b = 4894 ft a andb=3634in
s
Answer: Answer: Answer:
28) Find perimeter of 29) Find perimeter of 30) Find perimeter of
. . triangle s= 1255 cm triangle square having each
b b a=8849ft, b= s side (s) equals 7599 ft
< 9960 ft
s
a
Answer: Answer: Answer:
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31) Find perimeter of 32) Find perimeter of 33) Find perimeter of
square having each sguare having each b rectangle having
s side () equals 3996 in s side () equals 7132 in sidesa= 9643 ft
a and b = 2854 ft
3 s
Answer: Answer: Answer:
34) Find perimeter of 35) Find perimeter of 36) Find perimeter of
sguare having each b rectangle having b rectangle having
s side (s) equals 7015 m sidesa= 8749 cm sidesa=4974cm
a and b =1959 cm a and b = 3697 cm
s
Answer: Answer: Answer:
37) Find perimeter of 38) Find perimeter of 39) Find perimeter of
b rectangle having triangle b rectangle having
sidesa= 8555 cm b b a=2921cm,b= sidesa=8644in
a and b =7991 cm 4865 cm a andb=7882in
a
Answer: Answer: Answer:
40) Find perimeter of 41) Find perimeter of 42) Find perimeter of
square having each triangle square having each
s side (s) equals 3991 ft b b a=3173m,b= s side (s) equals 2163 m
9215 m
s s
4
Answer: Answer: Answer:
43) Find perimeter of 44) Find perimeter of 45) Find perimeter of
. . triangle s= 7567 m square having each b rectangle having
s side (s) equals 3439 ft sidesa= 9167 cm
s a and b = 8526 cm
s
Answer: Answer: Answer:
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46) Find perimeter of 47) Find perimeter of 48) Find perimeter of
triangle b rectangle having triangle
b ¢ a=3117m,b= sidesa= 9754 ft b b a=479%cm,b=
6533 m, a and b = 9707 ft 6359 cm
a Cc=7168m 3
Answer: Answer: Answer:
49) Find perimeter of 50) Find perimeter of 51) Find perimeter of
s triangles=5815in triangle square having each
b b a=8633ft,b= s side (s) equals 6304 cm
< 9402 ft
s
a
Answer: Answer: Answer:
52) Find perimeter of 53) Find perimeter of 54) Find perimeter of
b rectangle having b rectangle having a p triangle
sidesa=7904 m sidesa=9319in h=2610, a= 5650
a and b=7403m a andb=1150in 3 ft,
b=8515ft, c=
9402ft
Answer: Answer: Answer:
55) Find perimeter of 56) Find perimeter of 57) Find perimeter of
sguare having each a p triangle b rectangle having
s side (s) equals 9887 cm h=1650, a= 8508 sidesa=8837 cm
c cm, a and b=7702 cm
s b=9003cm, c=
9360cm
Answer: Answer: Answer:
58) Find perimeter of 59) Find perimeter of 60) Find perimeter of
sguare having each square having each b rectangle having
s side (s) equals 5239 m s side (s) equals 4377 ft sidesa=6281m
a and b=6198 m
s s
Answer: Answer: Answer:
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61) Find perimeter of 62) Find perimeter of 63) Find perimeter of
sguare having each triangle triangle
s side (s) equals 2163 m b b a=448cm,b= b ¢ a=8530inb=
9269 cm 9538in,
s 3 a C=9848in
Answer: Answer: Answer:
64) Find perimeter of 65) Find perimeter of 66) Find perimeter of
b rectangle having square having each b rectangle having
sides a= 5493 ft s side (s) equals 4593 m sidesa=8709in
a and b = 3030 ft a andb=8639in
s
Answer: Answer: Answer:
67) Find perimeter of 68) Find perimeter of 69) Find perimeter of
b rectangle having R triangles=9492m triangle
sides a = 5060 ft b b a=8636ft,b=
a and b = 4529 ft = 8785 ft
a
Answer: Answer: Answer:
70) Find perimeter of 71) Find perimeter of 72) Find perimeter of
b rectangle having square having each b rectangle having
sidesa=8100m s side (s) equals 1676 in sidesa=9815cm
a andb=3128m a andb=9735cm
s
Answer: Answer: Answer:
73) Find perimeter of 74) Find perimeter of 75) Find perimeter of
sguare having each b rectangle having . . triangles=2545m
s side (s) equals 9733 ft sidesa=8713m
a and b=1005m <
s
Answer: Answer: Answer:
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76) Find perimeter of 77) Find perimeter of 78) Find perimeter of
square having each sguare having each b rectangle having
s side (s) equals 6900 m s side (s) equals 4791 ft sidesa= 9498 m
a and b =8809 m
3 s
Answer: Answer: Answer:
79) Find perimeter of 80) Find perimeter of 81) Find perimeter of
b rectangle having b rectangle having triangle
sidesa=5255in sidesa=7009 m b ¢ a=1316ft, b=
a andb=2777in a and b =5050 m 0 4083 ft,
a c = 7097t
Answer: Answer: Answer:
82) Find perimeter of 83) Find perimeter of 84) Find perimeter of
b rectangle having R triangle s=5909 m square having each
sidesa= 8515 ft s side (s) equals 5479 m
a and b = 6104 ft =
s
Answer: Answer: Answer:
85) Find perimeter of 86) Find perimeter of 87) Find perimeter of
square having each a p triangle square having each
s side (s) equals 2928 cm h=2651,a=7267 s side (s) equals 1160 in
c in,
s b=9257in,c= B
9319in
Answer: Answer: Answer:
88) Find perimeter of 89) Find perimeter of 90) Find perimeter of
b rectangle having a p triangle square having each
sides a= 9340 ft h=1579,a=6118 s side (s) equals 1077 in
a and b = 7307 ft c cm,
b=6581cm,c= s
6943cm
Answer: Answer: Answer:

Copyright 2020 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

Sr: 17042020-1398

B 11-PLUS
MATHS WORKSHEET [ EWEsE
April 17, 2020 GENERATOR 4 GCSES )
91) Find perimeter of 92) Find perimeter of 93) Find perimeter of
triangle b rectangle having . triangle s= 4002 m
b ¢ a=3909m,b= sidesa=7305m
6820 m, a andb=2271m <
a c=7912m
Answer: Answer: Answer:
94) Find perimeter of 95) Find perimeter of 96) Find perimeter of
sguare having each triangle b rectangle having
s side (s) equals 6248 ft b b a=799%5m,b= sides a= 7080 ft
9574 m a and b = 5685 ft
s a
Answer: Answer: Answer:
97) Find perimeter of 98) Find perimeter of 99) Find perimeter of
b rectangle having square having each . triangle s = 9858 ft
sidesa= 9646 cm s side (s) equals 6496 cm
a and b = 8586 cm r
s
Answer: Answer: Answer:
100) Find perimeter of
a p triangle
h=7710,a=
S 82291in,
b=979%in,c=
9861in
Answer:
Total: / 100
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Answers:
1) 25162m 2) 34616in 3) 27971m 4) 20655cm 5) 8504t 6) 20808t 7) 14572in
8) 20631in 9) 22680cm 10) 25456m 11) 19378cm 12) 17653in 13) 13974ft 14) 19802ft
15) 22981t 16) 36840ft 17) 16666t 18) 25246cm 19) 22071t 20) 34068m 21) 13122m
22) 6184ft 23) 15655ft 24) 36156ft 25) 7160ft 26) 27374ft 27) 24230in 28) 3765cm
29) 28760ft 30) 30396ft 31) 15984in 32) 28528in 33) 24994ft 34) 28060m 35) 21416cm
36) 17342cm 37) 33092cm 38) 12651cm 39) 33052in 40) 15964t 41) 21603m 42) 8652m
43) 22701m 44) 137561t 45) 35386cm 46) 16818m 47) 38922ft 48) 17514cm 49) 17445in
50) 27437ft 51) 25216cm 52) 30614m 53) 20938in 54) 23567ft 55) 39548cm 56) 26871cm
57) 33078cm 58) 20956m 59) 17508ft 60) 24958m 61) 8652m 62) 23024cm 63) 27916in
64) 17046ft 65) 18372m 66) 34696in 67) 19178ft 68) 28476m 69) 26206ft 70) 22456m
71) 6704in 72) 39100cm 73) 38932ft 74) 19436m 75) 7635m 76) 27600m 77) 19164ft
78) 36614m 79) 16064in 80) 24118m 81) 12496ft 82) 29238ft 83) 17727Tm 84) 21916m
85) 11712cm 86) 25843in 87) 4640in 88) 33204t 89) 19642cm 90) 4308in 91) 18641m
92) 19152m 93) 12006m 94) 249921t 95) 27143m 96) 255301t 97) 36464cm 98) 25984cm
99) 29574ft 100) 27886in
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